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	Reason for change:
	In the definition of the Measurement Method IE, it specifies as:
"At least one bit shall be set to 1"

This seems require that the UP function has to perform kind of measurement on the usage, while it is inconsist with the following requirement in clause 5.2.2.1:

NOTE:	The UP function sends a usage report without performing network resources usage measurements when being requested to detect and report the the start of an SDF or application traffic.
[bookmark: _GoBack]As specified in clause 5.4.11, for unsolicited application reporting, the PFCP session created for this purpose may not be associated with any PDU session/PDN connection, thus there is no point to perform measurement on the usage. 

It is proposed to remove "At least one bit shall be set to 1". When the UP function receives Measurement Method without any bit set to "1", i.e. Measurement Method IE is set to "0", the UP function shall consider that CP doesn't request to perform usage measurement.


	
	

	Summary of change:
	Remove " At least one bit shall be set to 1" and add clarification that the UP function shall consider that CP doesn't request to perform usage measurement if the UP function receives a URR with Measurement Method set to "0".
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	Inconsistent requirement leads interoperability problem
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[bookmark: _Hlk22136061]* * * First Change * * * *
[bookmark: _Toc19717385]8.2.40	Measurement Method
The Measurement Method IE shall be encoded as shown in Figure 8.2.40-1. It indicates the method for measuring the usage of network resources.

	
	
	Bits
	

	
	Octets
	8
	7
	6
	5
	4
	3
	2
	1
	

	
	1 to 2
	Type = 62 (decimal)
	

	
	3 to 4
	Length = n
	

	
	5
	Spare
	Spare
	Spare
	Spare
	Spare
	EVENT
	VOLUM
	DURAT
	

	
	6 to (n+4)
	These octet(s) is/are present only if explicitly specified
	


Figure 8.2.40-1: Measurement Method
Octet 5 shall be encoded as follows:
-	Bit 1 – DURAT (Duration): when set to 1, this indicates a request for measuring the duration of the traffic.
-	Bit 2 – VOLUM (Volume): when set to 1, this indicates a request for measuring the volume of the traffic.
-	Bit 3 – EVENT (Event): when set to 1, this indicates a request for measuring the events.
-	Bit 4 to 8: Spare, for future use and set to 0.
At least one bit shall be set to 1. Several bits may be set to 1. The UP function shall consider that CP doesn't request to perform usage measurement if the UP function receives a URR with Measurement Method set to "0".
* * * End of Changes * * * *
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